ooooogon

go g

Ob15040220

gbooooooboboooboobobooboobobooobooboboooobOoboooo
gboooobooboobooooboooobooooooooboooobooobbooboooboooobooog
gbooooboooooooboooboboobobooooooboboooboobooboobooooboooboooboo
oooog

1 O0o0oon
0000 00000000000000000

ubob0 oboboboooobooooboobooooobooboooooboboooonoo

gboooobooobooboobooobooooooobooboobooooOoobooooDn
oboooobooboooooooon

Qu = D(P,,Y) Dooo
Qs = S(Py, Py) oooo
Qu = Q. 0ooooo

gboobOoobooboobooooobooboooboooooboooobooobboobooboooobooog
goboooobooobooobooooooooooooooboooobooooooDboooDoboOon

ooo0o000 RO0O0OO0 QeU0 QsO00000OOOOOOOOOOOOOODOODODODOOO
gboooboobobooooboobooooOoooboobbooboooobooboOoooDboog
00000 pOe;0Q;000000000000000C0O0O00O0O000OO0

goooo pO0QLOQs000000D0CO00DODO00ODOO0ODOOOODOOO0ODOOOOODO
gbooooboooboobooboooobobooa

ooboy O p,O000000000000000O0O0O0O000O0O0O0O0O00O0O0O0O0O0O00OO
goboooooooobooboooobooOoobooooobobooOoOoobooOoooOooboOoOoooon

oooboobooooooooooooboooooooo0 Yo ppO000000O0OO0O
0000000000 pO0OD0ODO U Q0000000000000 O0O0OOOOOOOO
EII:IDDDDDDDDDDDDE%DDDDDDDDYG P, O000000000O0O00O0O0OO
goooooobooooboooboboooboooobooooooboobooobooobooDboo
oooog



www.seinan-gu.ac.jp/ shito OO0 15040220019:520 00O

2 OJbooboobouoobouoobuood

gboooooboobooooobooboooooo

Qq = D(P,,1000) ooono
Qs = S(P,,70) ooon
Qa = Qs oooooo

oooooOoooobooOooo0oo0n v=10000000000 Pr=700000000000
ogbooobooooobooobooobooboobooooobooobooooonb 1co0o0OoOoOoOonO
gbrvooboooboobooboboobobooooobooooboobobooD o000 ODODO 70
gboooobobooooobooooboooon

gboooooo 2c000000000000000000DO000O0O0O0OO00O0DOOO0

Qa4 = D(P,,2000) ooog

goooooooooboboobobooooooboboooooobobOooboobooDo
gboboboobobobooooooobOobobOoboooooooooboooboOobOoonog
oboooooo

EIDDDDDEII:II:IElEIDDDDDDDDDDDDDDDDDDDDDIOOODDDDDD%%
goooooobo0ooboooboo0oy oooooooooooooooooooooooo
IZIDDDDDDDDDD%%DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00000000000000000M oo

gboooobooooobooobooobooo oo OobOoobooboobDooboon
00000 2000000000000000000000000 2000000]Jbout000000O
gbboooooooooobobooooboooboobooboooooooooooooooooon
ooo

goooobooobboooobooobooboooobooboobooobooboboooboboOooo
gboooboooboooooooboobooboobobobooooooooboboboooobooo
goo

3 Uooobod

gooooboooobboobooooboooboooobboboooobooboooooooDooDbo
gbooboooboobooboobobooboooobooobooobooboooboboobooooog
gbobooooooobooboooooooobobooooobooboooooobOobOoon
gboooooooocooooo

goooobooooooboooooboooooobboooboobbooooobooooboooo
gbooobooobooboobooboobooooboboooooooboobooboboOooboobog
gbooooOoooboobooobooboooobooboooobOoobOOoobOOoooOoooOoooog
goooooo

goooobooooobooobooooobbooboooooobooooboooboOoDbboOoobo
gboooboobooooobooooboboooboboooobooooboOoooon

od
00000000000 000000000000000000000000000000000000000000
oooo

gooooo oooo 2 gooooo oo o



